STATEMENTSAND SETS

1. The terms which connect two statements are called
2. If the switch ‘P is‘OFF we represent it by
3. The complement law using ‘A’ is
4. Thetruth value of (3#2) v (2=3) is
5. The statement of the form “ If...... then......."” iscalled an
6. A combination of one or more simple statements with a connective is called a
7. The symbol for existential quantifier (June 2009), (June 2008)
8 ~(peq=
9. The contrapositive of “If a polygen is a square then it is arectangle” is
10. p, q, r are threee statementsthenp A (v i) =(pPAq) v (qQAaT)is law
11. “For all” or “For every” iscalled quantifier.
12. If p and q are switches. The combination of
pvgiscaled
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13. p and g are two statements. The symbolic form of “Converse of a conditional is equivalent to itsinverse” is

14. The statement which uses the connective “OR” is called a

15. Thetruth value of (4 x 7 = 20) & (4+=7=1) is

16. Pisthe statement then ~(~(~p)) is

17. The symbolic form of “If x is not odd then x2 is odd”

18. p: Itisraining, g: The sun is shining . Connect p,q using conjuction is

19. Denid of astatement is called its

20. p and g are two statements then example for tautology is

21. pA(~p) is very simple example of a (June 2009)

22. ~(pvq) = (June 2009)

23. Pvp=p. Thisis law. (June 2010)

24. The symbol of Universal Quantifier is (March 2009)

25. ~(pvg) = (~p) A (~q) is law. (June 2008)

26. pv(gar) = (pvr) A (pvr) is law. (March 2008)

27. The truth value of implication statement :
1f3+2=5then1x0=0is (March 2008)

28. The last column of truth table contains only F it is called

29. por not p is example for

30. Theinverseof “~p= ~q" is

KEY
1. Connectivities 2.PL B (pA(p)=f 4. True 5. conditional (or) implication
6. Compound statement 7.3 8.~peqonpe —q 9. If apolygon is not a rectangle then it is not a square.
10. Distributive law. 11. Universal 12. Parallel combination 13.(g=p =~(p=>09)
14. Disjuction 15. True 16. ~p 17. “x isnot odd = x? is odd”
18.paq 19. Negation 20. pv(~Qq) 21. contradiction
22. ~pA~q 23. idempotent law  24. V 25. De morgan’s law
26. distributive law 27. True 28. contradiction 29. Tautology 30.p=g¢
SETS
1. If Aand B are digoint sets, then n(A U B) = (June 2009)
2. If AcBthenAnB = (June 2009)
3. The complement of WL is (March 2009)
4. n(p) = (March 2009)
5. IfAcBthenAuUB = (June 2008)
6. If AcB and BCA then (June 2008)
7. AUA'= (June 2008)
8. If AcB and n(A) =5, n(B) = 6 then n(AUB) = (March 2008)
9. The set builder form of B ={1,8,27,64,125} is (March 2008)
10. AuB)' = (March 2010)
11. If A={34}, B ={4,5 thenn (AxB) =
12. AN B)uU (ANC) =

=
w

. If A sand B are two setsthen A A B =
. If AcB, n(A) = 10 and n(B) = 15 then n(A-B) =
. If AnB = ¢, n(AUB) = 12 then n(AAB) =

=
[S SN



16. If A, B, C are three sets A—-(BUC) =

17. n(AUB) = 8, n(ANB) = 2, n(B) = 3 then n(A) =

18. IfA={x;x<5,xe N}, B={236,8} then AnB =

19. If A, B are digjoint setsn(A) = 4, n(AuUB) = 12 then n(B) =

20. AuB) =A"'nB'is law.

21. A,Baretwo setsthenx¢ (A—-B)=__

22. A c B andn(A) =5, n(B) = 6 then n(AUB) =

23. The sets which are having same cardnia numbers are called

24. If A has‘n’ elements then the number of elements in proper sub set is
25. If A and B are digoint sets then n(AnB) =

26. If n(A) =7, n(B) = 5 then the maximum number of elementsin ANB is
27. If AnB = ¢ then BNA =

28. If any law of quality of sets, if we interchange n and U and [ and ¢ the resulting law also true, thisis known as

29. A-B'=
30. A, B are subsets of u thenA N B' =

KEY

1. n(A)+n(B) 2.A 3.0 4.0 5B
9.{x/x=n3ne N,n<5  10.A'nB' 11. 4 12.ANn(BUC)
14.0 15.12  16. (A-B)N(A-C) 17.718. {2,3} 19.8

22.6 23. equivalent sets 24, 2"-2 25.0

29. AnB 30.A-B

STATEMENTSAND SETS: Important Questions

4 Marks

1. Using element wise provethat A— (BN C)=(A-B) U (A-C)

2. Provethat Au (BN C)=(AuB)n (AU C)

3. LetA,B aretwo subsets of aUniversal set u show that AN B=A-B1=B -A!
4. Provethat (A AB)L=AlUB?

2 Marks
Define implication and write truth table?
Write the truth table (~P) v (P A Q).

6.A=B 7.1 8.6

13. (AUB)-(ANB) (or) (A-B) U (B-A)

20. De Morgan's law 2l.x¢ Aandxe B
26.5 27.B 28. Principle of duality

Write the converse, inverse and contrapasitive of the conditiona “If in atriangle ABC, AB > AC then £C > /B.

1
2
3.
4. IfAnB=¢thenshowthat BNAl=B
5. Using element wise proof show that A — B = AnB!
6. If A,B are any two sets, prove that A-B1 = B-A
7. Showthat AU B = ¢, impliesA=¢ and B = ¢.
1Mark

Define Tautology and contradiction?

Write Truth table for conjunction?

Provethat (A)L=A

Show that P A (~P) is contradiction.
If A={1,2,3}, B={2,3,4} then find AAB.

1
2
3
4. Write contrapasitive of a conditional ‘If two triangles are congruent then they are similar”.
5
6
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7. Write set-builder form of A={l*,*,*,*,*}

8. Provethat AA B c A for any two setsA, B.
9. Provethat ~(~P) =P



